
Induction

↳
when you want to show a property is true for all

positive integers, can often use induction.

II Show that for all positive integers n .
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for h = ktl
.
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Base case : Does statement hold for h-- I ?

Induction hypothesis : Assume It 2-13-1 - - . + k = k¥1 .

←

" need to show
"

Induction step : (NTS

It 2-13-1 . - - t k t k-11 =

Thus
,
we conclude that for all positive integers n ,
I -12+3-1. - - th= k¥1 ) . ✓

for all pos. integers n.
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It 2T 3T . - - . t k -11 = (k¥1142).)

k¥1) + k -11 (by induction's
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